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@O sinA = cos(90° - A)
@ 1-2sin?A =2cos?A-1
@sin(A—i—B) =sinA +sin B
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tanA  sinAcosA

® (sinA + cosA)? + (sinA —cosA)? =2

@ tanA +

~&B

@ 1-2sin?4A=1-2(1 -cos?A) =2cos?A -1

@ tand + 1 _ sin A c?sA
tan A cos sin
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o sinlA cos A
- sin A cos A

® (sinA + cosA)? + (sinA — cosA)?
=1+2sinAcosA+1-2sinAcosA =2




10. ohg Fol7 BE BT x+y o g FohH?

2te sin cos tan
14° 0.2419 0.9703 | 0.2493
15° 02588 | 09859 | 0.2679
16° 0.2766 0.9613 | 0.2867
sin x = 0.2766 , tany = 0.2493
® 28° @ 29° @30° @ 31° ® 32°

sinx = 0.2766 .. x = 16°
tany = 0.2493 ..y = 14°

x4y =16°+ 14° = 30°
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44 0.6947 0.7193 0.9657

45 0,7071 0,7071 1,0000

46 0,7193 0,6947 1,0355
@ 1.022 (@)6.947 ® 7.071
@ 9.567 ® 10.355

x =10 xsin44° = 10 X 0.6947 = 6.947
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19. 0°<x<90° ¥ o, 2sin’x - 3sinx+ 1 = 0 = TEA]7]= x 9
H2?

O o @ 15° @30° @ 45° ® 60°

sinx = A 2tal 5}

2A2 -3A+1=0

2A-1)(A-1)=0
1

A=-1
2

1
sinx = 5 sinx =13, x =30° == x = 90° o|t}.

0° < x<90° OB 2 x = 30° °|t}.
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BE = 8 x cos45° = 4V?2,
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. = 6 = - cm
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BH = V82-22 = 215 o|t}. waty CD = BH = 2V15
o|B& x = 2+15(cm) ©|t}.

K




& 3%10) A2b4719 ABC oA The —
% 27 e AL V1o N
e 1
A C
1 . V10
@tanA-; @smA—%—0
@COSBZE\/E @COSAIE\/I_O
® tanB =3
AC= 41/(V10)2-12=3
@COSB: L — @
10 10




RN IENE S IN]
|

cos A
tan A

Q@ ®

SloelI3IRIT

A sin A
© cosB
@ tanB

.

ul

-

ul

Slo SIS

© cosB
® tan A




34.

= W

cosA=- ¥ o, sinA +tanA °] 2?7 (F, 0° <A <90°)

37 57 V7T 57 V7T
O = e e > @57

B

CosA = % Q1 AABC € 18 HH

BC = /(4k)2 = (3k)2 = Tk

. SinA = ﬁ, tanA = ﬁ
4 3
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OB =17cm & o, & Y] A PT ¢] 4o

BM =15 =AM °|E2&2
PT° =8x (8+ 15+ 15) = 304
PT = 4V19(cm)




